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Directions (1-4): Select the related word/letters/number from the given alternatives.  
दिए गए विकल्पों में से सम्बंवित शब्ि/िर्ण/संख्या का चयन करें 
Q1. A.P.J. Abdul Kalam : Wings of Fire : : Mahatma Gandhi : ?  

ए.पी.जे. अब्िलु कलाम : Wings of Fire : : महात्मा गााँिी : ? 
(a) Atmakatha    
(b) An Autobiography 
(c) The Story of my Experiments with Truth  
(d) Courage and Conviction  

Q2. IH : RP : : GJ : ?  
 (a) IJ  
 (b) NT  
  (c) GE  
 (d) LI  
Q3. KL : PO : : RQ : ?  
 (a) MP  
 (b) IJ   
 (c) PL   
 (d) QS  
Q4. 15 : 60 : : 11 : ?  
 (a) 49  
 (b) 46   
 (c) 50  
 (d) 44 
Q5. Statements followed by some conclusions are given below. 

कुछ कथन के बाि नीच ेकुछ वनष्कर्ण’दिए गए हैं 

Statements:/ कथन: 

1. Employees are well paid./कमणचाररयों को अच्छा ितेन प्राप्त हो रहा ह ै

2. Rajan earns well./ राजन अच्छी कमाई करता ह ै

Conclusions:/वनष्कर्ण: 

I. Rajan is an employee./ राजन एक कमणचारी ह.ै.. 

II. Rajan is self-employed./ राजन स्िरोजगार ह ै
Find which of the given conclusions logically follows from 
the given statements. 
कौन सा वनष्कर्ण दिए गए कथनों स ेतार्ककक रूप स ेअनुसरर् करता ह।ै 

(a) Only conclusion I follows./केिल वनष्कर्ण I अनसुरर् करता ह ै

(b) Only conclusion II follows./केिल वनष्कर्ण II अनुसरर् करता ह ै

(c) Both I and II follow./I और II िोनों अनुसरर् करते ह ै

(d) Neither I nor II follows./न तो I और न ही II अनसुरर् करता ह ै
Q6. Find the missing (?) in the series 

श्रंखला में अज्ञात (?) का पता लगाए ं
….., HG, IJ, LK, MN, ?, ….. 
(a) OP 
(b) PO 
(c) QP 
(d) PQ 
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Q7.  In the following question, select the missing number from the given series. 

 वनम्नवलवखत प्रश्न में, िी गयी श्रंखला में से अज्ञात संख्या का चयन करें 

  
 (a) 32 

 (b) 30 

 (c) 28 

 (d) 36 

Q8. A piece of paper is folded and punched as shown below in the question figures. From the given 

answer figures, indicate how it will appear when opened.  

 एक कागज़ के टुकड़ ेको मोड़ कर पंच दकया गया जैसा दक नीचे िशाणया गया ह.ै नीचे दिए गये वचत्रों से ज्ञात कीवजये दक 

खोले जाने पर यह दकस प्रकार का दिखेगा. 

  

 

(a)

        
 (b)

   

 

(c)

     
 (d)

   
Q9. If DELHI is QRYUV, then BOMBAY is 

यदि DELHI को QRYUV के रूप में वलखा जाता ह,ै तो BOMBAY कैसे वलखा जाएगा? 

(a) OBZNOL 

(b) OZBNOL 

(c) OZBONL 

(d) OBZONL 

Q10. If GOING is 38253 and CASUAL is 409106, then LOGICAL is 

यदि GOING को 38253 के रूप में वलखा जाता ह ै और CASUAL को 409106 के रूप में वलखा जाता ह,ै तो 

LOGICAL दकस प्रकार वलखा जाएगा? 

(a) 6034286 

(b) 6834206 

(c) 6032486 

(d) 6832406 
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Q11.  In a certain code language, "INSTANT" is written as "IOUWESZ". How is "FORGET" written in that 
code language? 

 दकसी वनवित कूट भार्ा में, "INSTANT" को  "IOUWESZ" के रूप में वलखा जा सकता ह.ै उसी कूट भार्ा में 

"FORGET" दकस प्रकार वलखा जाएगा? 

(a) FPOGXI    
(b) FOSIGX   
(c) FPSKHW    
(d) FPTJIY 

Q12. If "S" denotes "multiplied by", "V" denotes "subtracted from", "M" denotes "added to" and "L" 
denotes "divided by", then 8 V 10 M 96 L 6 S 9 = ? 

यदि “S” “गुर्ा” को, “V” “घटा” को, “M” जमा” को और “L” “से विभावजत” को िशाणता ह.ै तो 8 V 10 M 96 L 6 S 9  

= ? 
(a) 140  
(b) 142  
(c) 134  
(d) 144 

Q13. Which set of letters when sequentially placed at the gaps in the given letter series shall complete 
it? 

 दिए गए पत्र श्रंखला में अंतराल पर अनुक्रवमक रूप से रख ेजाने पर अक्षरों का कौन सा सेट इसे पूरा करेगा? 
 _qr_srq_p_rs_r_p 

(a) pqrsss  
(b) qprsss  
(c) pspqsq  
(d) pspqqq 

Q14. A man is facing east. He turns 60 degrees in the anticlockwise direction and then again turns 
another 120 degrees in the same direction. Which direction is he facing now? 

 एक आिमी ने पूिण की ओर मुख कर रहा ह।ै िह एटंीक्लॉकिाइज दिशा में 60 विग्री और दिर उसी दिशा में 120 विग्री 

घूमता ह।ै अब िह दकस दिशा का सामना कर रहा है? 

(a) East/पूिण   

(b) North-west/उत्तर-पविम 

(c) South-east/िवक्षर्-पूिण 

(d) West/पविम 

Q15. A word is represented by only one set of numbers as given in any one of the alternatives. The sets 
of numbers given in the alternatives are represented by two classes of alphabets as shown in the 
given tow matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and that of 
Matrix-II are numbered from 5 to 9. A letter from 0 to 4 and that of Matrix-II are numbered from 5 
to 9. A letter from these matrices can be represented first by its row and next by its column, for 
example, ‘N’ can be represented by 21, 67 etc. and ‘R’ can be represented by 66, 57 etc. Similarly, 
you have to identify the set for the word ‘GRAIN’. 

 एक शब्ि को केिल एक संख्या सेट स ेिशाणया जा सकता ह ैजसैा दक नीच ेदिया ह.ै विकल्पों में दिए गए संख्याओं के सेट 

िो िर्ों के द्वारा प्रस्तुत दकए जाते हैं जसैा दक नीचे दिए गए मैरिकस में दिखाया गया ह.ै मैरिक्स-I को 0 से 4 तक 

संख्या िी गई हैं और उसी प्रकार मैरिक्स II को 5 से 9 तक संख्याए ंिी गई हैं. एक िर्ण को पहल ेउसकी पंवि द्वारा दिर 

उसके स्तम्भ द्वारा िशणया जा सकता है,  उिाहरर् ‘N’ को 21, 67 आदि. और ‘R’ को 66, 57 आदि द्वारा िशाणया जा 

सकता ह ैउसी प्रकार आपको शब्ि ‘GRAIN’ के वलए संख्या सेट ज्ञात करना ह.ै 
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(a) 99, 33, 76, 88, 76  

(b) 23, 24, 76, 75, 89 

(c) 23, 66, 69, 11, 21  

(d) 99, 20, 89, 11, 44 

Q16. Introducing a woman, Anjali says, "She is the wife of my daughter's only brother". How is the 

woman related to Anjali? 

 एक मवहला का पररचय ितेे हुए, अंजली कहती ह,ै "िह मेरी बेटी के इकलौते भाई की पत्नी ह"ै। मवहला अंजली से कैस े

संबंवित ह?ै 

(a) Niece/ भतीजी /भांजी  

(b) Daughter-in-law/ िॉटर-इन-लॉ 

(c) Sister/ बहन 

(d) Cousin/ कवजन 

Q17. If a mirror is placed on the line MN, then which of the answer figures is the right image of the 

given figure?  

 यदि रेखा MN पर एक िपणर् रखा जाए, तो वनम्नवलवखत में से कौन सा उत्तर वचत्र प्रव्चचत्र दक सही छवि होगी? 

  

 

(a)

     
 (b)

   

 

(c)

    
 (d)
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Q18. Identify the diagram that best represents the relationship among the given classes. 

 उस आरेख को पहचानें जो दिए गए िगों के बीच संबंिों का सबसे अच्छा प्रवतवनवित्ि करता ह।ै 
 Computer hardware, Monitor, Keyboard, Operating system 

 कंप्यूटर हािणिेयर, मॉवनटर, कीबोिण, ऑपरेटटग वसस्टम 

 

(a)

    

 

(b)

     

 

(c)

    

 

(d)

   
Q19. A piece of paper is folded and punched as shown below in the question figures. From the given 

answer figures, indicate how it will appear when opened.  

 एक कागज़ के टुकड़ ेको मोड़ कर पंच दकया गया जैसा दक नीचे िशाणया गया ह.ै नीचे दिए गये वचत्रों से ज्ञात कीवजये दक 

खोले जाने पर यह दकस प्रकार का दिखेगा. 

  

 (a)     

 (b)   

 (c)    

 (d)   
Q20.  Arrange the given words in the sequence in which they occur in 

the dictionary. 

 दिए गए शब्िों को शब्िािली के अनुसार व्यिवस्थत कीवजये. 

i. Translucent  

ii.  Transparent 

iii.  Transport  

iv.  Transistor 

(a) iv, i, ii, iii    

(b) iv, i, iii, ii 

(c) i, iii, ii, iv    

(d) i, ii, iii, iv   
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Q21. X is the only daughter of Y’s grandfather’s only son. Y’s grandfather has only one child. How is X 
related to Y? 

X, Y के ग्रैंििािर के इकलौते बेटे की इकलौती बेटी ह।ै Y के ग्रैंििािर का एक ही बच्चा ह।ै X, Y स ेकैसे संबंवित ह?ै  

(a) Mother/मााँ  

(b) Sister/बहन 

(c) Paternal Aunt/ पैतरक आंटी 

(d) Grandmother /ग्रैंिमिर 

 
Directions (22-23): A series is given with one term missing. Choose the correct alternative from the 
given ones that will complete the series. 

एक श्रंखला िी गयी ह,ै वजसमें से टमण अज्ञात ह.ै दिए गए विकल्पों में से सही विकल्प चुने जो श्रंखला को पूरा करेगा 

Q22. Rajasthan, Madhya Pradesh, Maharashtra, ? 

राजस्थान, मध्य प्रिशे, महाराष्ट्र, ? 

(a) Uttar Pradesh/उत्तर प्रिशे 

(b) Jammu Kashmir/जम्मू-क्मीर 

(c) Tamil Nadu/तवमल नािू 

(d) Assam/असम 

Q23. 200, 100, 50, 25, 12.5, 6.25, ? 
(a) 2.125  
(b) 3.025  
(c) 3.125  
(d) 2.025 

Q24. In the following question, two statements are given each followed by two conclusions I and II. You 
have to consider the statements to be true even if they seem to be at variance from commonly 
known facts. You have to decide which of the given conclusions, if any, follows from the given 
statements. 

 नीचे दिए गये प्रश्न में, िो कथन दिए गए हैं वजनके नीच ेिो वनष्कर्ण I और II दिए गए हैं. आपको दिए गए कथनों को 

सत्य मानना ह ैभले ही िे सिणज्ञात तथ्यों से वभन्न प्रतीत होते हों. दिर आपको वनिाणररत करना ह ै दक यदि दिए गये 

वनष्कर्ों में से कौन सा दिए गए कथनों का अनुसरर् करता ह.ै 

 Statements: (I) a R b  
 (II) b R a 

 Conclusion: (I) This relation is symmetric./ वनष्कर्ण: (I) यह संबंि समवमत ह ै। 

(II) This is a relation./ यह एक संबंि ह ै

(a) Conclusion I follows/ वनष्कर्ण I अनुसरर् करता ह ै

(b)ConclusionII follows/ वनष्कर्ण II अनुसरर् करता ह ै

(c) Neither I nor II follows/ न तो I और न ही II अनुसरर् करता ह ै

        (d) Both I and II follows/ I और II िोनों अनुसरर् करते हैं 

 
Directions (25-26): A series is given with one term missing. Choose the correct alternative from the 
given ones that will complete the series. 

एक शं्खला िी गई ह ैवजसमें एक टमण अज्ञात हैं आपको दिए गए विकल्पों में से उस विकल्प का चयन करना ह ैजो इस शं्खला को 

पूरा करेगा? 

Q25. ?, ONM, GFE, XWV 
(a) TUV  
(b) VUT  
(c) GHI  
(d) PQR 
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Q26. RS, ? , BC, GH 
(a) WX  
(b) XY  
(c) UV  
(d) GE 

Q27. Farhan travels 4 km in the north-east direction and then turns towards the south-east to travel 
another 3 km. How far is he now from his original position? 

 िरहान उत्तर-पूिण दिशा में 4 दकमी की यात्रा करता ह ैऔर दिर 3 दकमी की यात्रा करने के वलए िवक्षर्-पूिण की ओर 

मुड़ता ह।ै िह अब अपने मूल स्थान स ेदकतनी िरू है? 
(a) 4 km  
(b) 6 km  
(c) 7 km 
(d) 5 km 

Q28. Arrange the given words in the sequence in which they occur in the dictionary. 

दिए गए शब्िों को शब्िािली के अनुसार व्यिवस्थत कीवजये. 
i. Arise   
ii. Abysmal 
iii. Agility   
iv. Accure 
(a) ii, i, iv, iii   
(b) iii, iv, ii, i 
(c) ii, iv, i, iii   
(d) ii, iv, iii, i 

Q29. In a certain code language, "LOYALTY" is written as "MPZBMUZ". How is "PROCLAIM" written in 
that code language? 

 दकसी वनवित कूट भार्ा में, "LOYALTY" को "MPZBMUZ" के रूप में वलखा जाता ह.ै उसी कूट भार्ा में 

"PROCLAIM" दकस तरह वलखा जाएगा? 

(a) QSPDDBJN   
(b) QSPDBMJN 
(c) QSPDMBJN   
(d) QPSDMBJN 

Q30.  In the following question, select the missing from the 
given series.  

 वनम्नवलवखत प्रश्न में, िी गयी श्रश्खला में से अज्ञात संख्या का चयन करें 

  
(a) 124  
(b) 132  
(c) 120  
(d) 125 
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